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Instructions:
(#) A hwre Jermé., Toud fyve de calculitrices autorise,
Closed book. All types of calenlzlors are allowed,
(bl Répondre sur lo questtannare. Réponees numervigues dans les hoites,

All angles are in RADIAN moeasures, Test avd adjust vour ¢

Answer on the questiom sheets, Fill-in boxes with munerical answers,
Leg gquestions sont o ‘Eguie valeur,
medleures réponses seront Complees
All guestions have the zame value,
answers wiil counr.

D Danpner e détal de vos cideurdy,

Shuw all eomputation.

Une fewille coulenr de tables sern distrebuée,
A one-page table on eolured paper will be distribitad.
Tous lex angles sont en RADIANS, Tester ot il

alenlalors,

sin 1123456780 = 0.90160112364454

Lo quation dificventiell fromogéne du Ter ardre.

The firs

torder hemopenecus differential eruation,

Miw g)de = Nz, 1) iy =1,

it un foelewr dintépution
admits an inregrating factor
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Qu. 1. Trouver wn [ucteur dintégralion. rendre ["dquaton différentiolls cracle el réscudre

le probléme 6 valeur initiale,

Find an integration factor, make the differential equation exact and solve the initial value

nroblen.
s ooy 3y . ~ P
(1 =z y)dx+ o (y — x) dy = 0, =2
l=2 Mode + MWdyco
"’i._f oy | 2y - Trg® My o Bl g e e oek 2
5 . ) o R . - i mgaS =
R TSR o TSRy BT o RN SUOERY )
N = E e L
EE;W} Av f-—% iy py
ey = & = £ ) AN .

_.'.‘i o= N

A DG E My +Tog - gt’_afﬁf] oy + 00D

A f.rL"'lLt‘f‘] . + 1‘|t'._"'1 ( ""?.‘f = \ﬂ_g \.-“'—-Lf -0

L%E _1f‘} dl"“’. &+ kal— Y d'..‘r =43

- Yy + T Loy
%

l':ih‘“':iﬂ i, --L{-_'L-_r] ) = M

e & ' s
ol :
= %L_\q JLE'E’L{_ ':]_ A
b —— = W =
Llf i) W
“_I{\L- " -
)= = 4 e
ke
el 2
D e o %-i.—d:ﬂ. el

, A

= Thind = T
=h Ti‘_u."j —
LR



S

Qu. 2. Hésoudre le prodléme G

solve the iritial value problam.

wipde sy anatalo

of
¥ -~y e0RE = 008,

A ) =

. T ¢
: T et 3 i —
2 ! i =
[ & 7 @
-+ ,.-ﬁ_.e.,:m. Ty i
w7 7 =

Y ) =

%]EIDJ-:“{-E + X

’_,-u i

L e Jf.-a‘:-"#tr-r;“ e

7 (o)

(5 4

E ‘j' L 3 C,!,t' — . .IJ. .

| -

cam T A

y(01 = 2.

Rtz B

| eratoid H e i 4
LR A R v S
f ‘f

o+ f:.!.,-:n':d X
+ €2

,..f_fm}-«{:k..-

o,

Cova I (T“T)

)

B R T T

o
&,
R S

HMI:
N e
&
N o=~ t
— <L = €
[ "
- I

I

—

-

i



Qu. 3. Hésoudre le probidime aur valewrs initivles,

Solve the initizl valne problen

y' +4dy = Bsina, y(0) = -2, 4(0)=1.
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Qu. 4. Fesoudre le probléme aur valeurs matinles

Sulve the inftial value problom.
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Qu. 5. Troweer lo solation géndmie.

Find the general soluticn.
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Qu. 6. Compléier ie tableou powr la récurrence de ol fuee

Fill Lhe boxes for Lhe fixed point ileration:
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Acedlerer la converoence par lo méthode d°Aitken.

Accelerate the convergence by Lhe Aitken process.
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Aceélérer In convergence per lumidthode de Steffensen

Aceelerale the corvergence by the Stellenseen process,
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Q. 7. Cempléier e tobleay de différmees dupizées
Complete the divided difference table:
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